
GEN15S-GEN25B
Parts List

03-October-2017

This parts list is current as of the above revision date.
See http://www.rheempartslists.net/92-42800-GEN15S-GEN25B.pdf for the current revision.

Standby Generators

Form No. 92-42800-GEN15S-GEN25B

http://www.rheempartslists.net/92-42800-GEN15S-GEN25B.pdf


Page 5 of 16

03-October-2017
92-42800-GEN15S-GEN25B

No. Notes
MODEL
OUTPUT CAPACITY
SERIES

GEN
15/25
S/B

GENERAL ASSEMBLY PARTS (CONTINUED)
45 2 Washer - M12 Lock N/A
46 2 Nut - Hex M12 - 1.75 N/A
47 2 Washer - Flat M12 N/A
48 2 Nut - M10 - 1.5 N/A
49   Disk - Engine Air CALL
50   Screw CALL
51 1 Assembly - Alternator N/A
52   Allen Screw - M8 - 1.25 X 20 CALL
53   Decal - Caution Hot Surface CALL
54   Gasket 807208
55   Muffler 197164GS
56   Base - Muffler Box CALL
57   Kit - Insulation - Muffler Base CALL
58   Crimptite - 10-24 X 1/2 CALL
59   Assembly - Bulkhead - Alternator End w/Insulation 202433GS
60   Kit - Insulation - Muffler Box CALL
61   Collector - Muffler Box CALL
62   Box - Muffler Top CALL
63   Screw. 10 - 32 X 5/8 CALL
64 2 Phillips Pan Head Machine Screw - 4-40 X 0.19 N/A
65 2 Washer - Lock #4 N/A
66 Stk Switch - Oil Temp 186205GS
67   Plate - Switch Oil Temp 194699GS
68   Wire CALL
900 1 Engine - Briggs & Stratton N/A
901 Stk Fuel Hose - w/Clamp 842185

       
       

No. Notes
MODEL
OUTPUT CAPACITY
SERIES

GEN
15/25
S/B

GENERAL ASSEMBLY PARTS - NOT ILLUSTRATED
    Parts Bag/Manual 202289GS
  Stk Cap - Funnel Oil Bottle B3518GS
  Stk Hose - Flex 202295GS
  Stk Kit - Led Remote 198866GS
  3,Stk Kit - Cold Weather (Includes Battery and Oil Warmers) 6030
       


